ID:1210 P- 1

P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% SFI07T4E04 14 H eI Dt e/ 75 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

xR & )l 10. 00 [ #H%f 300 3, 000 1,512 1, 404 1,188
IENE w5 10. 00 | #H%F 505 5,050| 3,780| 3,330 1,080
B X £ % 15. 00 | #85f 164 2,460 2,160 1,967 1,836
X D O 12. 00| AH%F 186 2,232 1,512 1,133 756
ESF AWII--N o JE 0. 20 | FHxf 1, 585 317 108 100 76
H % i 3. 00| FHxf 88 264 1,620 1,412 1,274
H A ] 1L 1. 00| FHxf 155 155 540 519 324
ENIE 500 fxt| 20 00| 1,890] 1,620 1,350
AN B 2. 00| FH*} 303 606 972 810 594
= e K 4. 00| FH%f 123 492  1,296| 1,255| 1,242
[ I\ w5 5. 00 | #H 5t 1,098 5,490 1,620 1,376 1,080
~7 b~ | F ) 3. 00 | FHx} 53 159 1,404 1,396| 1,188
IR Ak L 2. 00| FHxf 32 64| 2,376 1,961| 1,404
N2 JEE I 10. 00| AHxf 680 6,800 3,888 3,390| 1,944
S5 - AbiEiE 20. 00 | #H 5%t 421 8,420| 3,024| 2,553 540
% | 10.00| fxr| 201 2,010| 2,376| 1,910 648
LA A It fE 10. 00 [ #H%f 720 7,200 2,484 1,773 972
Y=L F R 5 [ 4. 00| FBf 694 2,776| 1,512 687 378
Ty al)— W 6. 00 | FH%f 142 852| 3,888| 3,286| 2,376

L xon & A 4. 00 | FHxF 6 24 5, 940
AMEE (i 0. 10| #Hxf | 2,050 205 162 113 65
ZDEH £ ¥ 0. 20 | #H%} 1, 500 300 65 60 59

LU E B 0. 20 | FHx} 150 30 81




ID:1210 p- 2

P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE SFI07T4E04 14 H eI Dt e/ 13 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

HE A Foak L 10. 00 | #H%f 40 4001 2,052 1,985| 1,836
LEY T AU | 17.00| A%t 24 408 7,776
A U H O 10. 00 | AH%F 2 20 6, 480
Vafa—)L H O 10. 00 | AH%F 2 20 5, 940
Avava 7 4 U ¥ | 13.00]| A%t 69 897| 4,104 2,972 594
HEFH D & [ 0. 27 | ¥Ax} 3, 864 1,043 410 352 270
S & ) 0.25( fHxt [ 10,473 2, 625 486 315 162
IRBHD Y £ IH 0. 25| FH*} 5,614 1, 407 335 304 130




